
A
B2A

SOCKET BUTTON HEAD BOLT 5/16 x 1-1/2"

LOCK WASHER 5/16

C
C

B1

INSTRUCTIONS:

ALIGN THE WOODEN TOWEL RACK HOLDER WITH THE HOLES IN THE KITCHEN ISLAND AS SHOWN 1.
IN FIG. "A". THE SHORT SIDE SHOULD BE FACING UP.
INSERT THE SCREWS TO ATTACH THE SUPPORT.2.
TO INSERT THE TOWEL RACK, FIRST UNSCRESS THE END OF ONE SIDE OF THE TOWEL RACK AS 3.
SHOWN IN FIG."B1", THEN INSERT THE TOWEL RACK BETWEEN TO WOODEN SUPPORT AS SHOWN 
IN FIG. "B2". NOTE YOU CAN USE IT TO PLACE THE NAPKIN ROLLS OR TOWEL.
AT THE END, SCREW THE EXTREME PART THAT WE REMOVED PREVIOUSLY AS SHOWN IN FIG. "C".4.

SOCKET BUTTON HEAD BOLT 5/16 x 1-1/2

LOCK WASHER 5/16

ALLEN KEY 3/16

4

4

1
I-KSL-C005

ASSEMBLY INSTRUCTIONS

PRODUCT IMAGE SHOWN IS FOR ILLUSTRATIVE PURPOSES ONLY, SHOULD NOT BE TAKEN AS REFERENCE POINT HARDWARE
DESCRIPTION #PCS



1

3.

A

2

A

SOCKET BUTTON 
HEAD 5/16 x 1-1/4

LOCK WASHER 5/16
FLAT WASHER 5/16INSTRUCTIONS:

SOCKET BUTTON HEAD BOLT 5/16 x 1-1/4

LOCK WASHER 5/16

ALLEN KEY 3/16

4

4

1

YOU CAN USE THE CENTRAL SPACE AT THE DISTANCE YOU DECIDE, IF YOU DECIDE TO CHANGE THE LEVEL OF THE SHELF, FOLLOW THESE STEPS.
AT THE BOTTOM OF THE SHELF ARE THE SCREWS, WITH THE HELP OF THE ALLEN KEY YOU HAVE TO UNSCREW AS SHOWN IN FIG. "A".1.
MOVE THE SHELF UP AS SHOWN IN FIG. 3 AND SCREWED THE SAME SCREWS THAT WERE REMOVED IN THE PREVIOUS STEP.2.

FLAT WASHER 5/16 4I-KSL-C005

ASSEMBLY INSTRUCTIONS

PRODUCT IMAGE SHOWN IS FOR ILLUSTRATIVE PURPOSES ONLY, SHOULD NOT BE TAKEN AS REFERENCE POINT
HARDWARE

DESCRIPTION #PCS


	Sheet1
	Vista de dibujo1
	Vista de dibujo2
	Vista de detalle A (1 : 10)
	Vista de dibujo4
	Vista de detalle C (1 : 10)
	Vista de dibujo6

	Sheet1(2)
	Vista de dibujo13
	Vista de dibujo14
	Vista de dibujo15
	Vista de detalle A (1 : 6)


